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What is the value of 24436 correct to two decimal places?
11.5+2.1
(A) 044
(B) 2.62
(©) 2.66
(D) 4.81

What is the value of _1698 correct to two significant figures?
142x5.8

(A) 2.0
B) 2.1
(©) 2.06
®) 2.07

(1.49)* -1.98
V11.62+834x2.72

What is the value of correct to three significant figures?

(A) 0.040
®) 0.041
(C) 0.0409
(D) 0.0410

Which of the following is equivalent to B+27-182
@) 3

® V12

© 43-3\2

(D) 1043-92

2

2443
4-2.3

7

44243

B —

(©) 4-243
D) 4+243

! . . . . .
What is as a fraction with a rational denominator?

&)

10
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What is 1+ \/jg as a fraction with a rational denominator?
53
A .
&) 7
—5+4/3
o) —2TNV°
© T
11-73
B
7
11+73
O —
13

What is a correct set of values for g, b and ¢, given ¢ = Jat-p*?
(A) a=16,b=30,c=34
(B) a=34,b=30,c=16
(C) a=16,b=34,c=30
(D) a=30,b=16,c=34

If a=2b>—1, what is the value of b when a is 137
® s
® 7
© 4
Y14

7

Expand and simplify 4(x—-1)—-x+1
(A) 3x

B) 3x-5

© 3x-3

®) 3x+5

124° +4a° =
A 3d
®B) 3’
€) 84
D) 84




11 Which statement is nof true?
A Fxt=x
B) Xxx*=x"
© =G
o =1

5m® x 4m®
12 Simplify ———.
L AT

m4
A Ex

© 2w

. . da’-ab
13 Simplify e
a
(4a-b)
4a~b
(16a+b)
4a—b
(16a-b)
a
(4a+b)

A)

®

©

®)

=1 x*-4x-5

14 Simplify
(x-3)
4
=-D
4
(x+1D
© T
P +x+1)
4

A)

®

)

(o TSI
x =1 4x’+4x+4
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15 Which expression is equivalent to 3a*(a+2)—a*?
(A) 308 ~d* +2
B) 3d&+54°
(C) a*+54°
D) 6a’-d*

16 Factorise 3x* +9x.
(A) 3x(x+3)
B) 3x(x+9)
©) 3x(x+12)
(D) 3x(3x+3)

17 Factorise 3x* +15x—72.
A (=-8)(x+3)
B) (x+8)(x—-3)
©) 3(x—8)(x+3)
D) 3(x+8)(x—-3)

18 1iXo9
4 8
1+x : 2+x
A) —= B) ==
(A) g | B) 2
T+x ; 8-+x
c — D) ——
© 5 D) 3

19 The formula H =5m(¥ —X) is used to calculate.the heat () required to raise the
temperature of a steel rod, of mass m, from a temperature of X to a temperature of ¥.
Rearrange the formula to make X the subject. ’

Sm—-H
Y

H-5m
Y

H-5mY
5m

SmY-H
5m

@A) X=

®B) X=

© X=

O X=
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20 What is the solution to the equation 9x —-8=277

9 7
(A) x=§§ (B) x—3

8 8
© x=13 @) x=35

21 What is the solution to the equation 5a—2=a+67?

2
A) a=1 B) a= 15
© a=2 D) a=4
22 What is the solution to the equation Tx= =47
7 5
A =— B ==
A x Tl : B x 7
2 4
C) x=1= D) x=1=
© 5 ) 7
23 What is the solution to the equation x+d = —;——— 27
(A) x=2 ®B) x=5
C) x=6 ®) x=20
24 What is the solution to the equation 8(a—1)=4(a+8)?
(A) a=04 B) a=225
€) a=6 D) a=10
25 What is the solution to the equation 4Jm-9=0?
18 81
A =— B it
(&) m== ® m T
3
© m= ) D) m=6

26 What is the solution to the equation 4* —9(2%)+8=07?
(A) x=1land x=3 |
B) x=land x=4
(C©) x=0and x=3
D) x=0and x=4
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27 What is the simultaneous solution to the equations x+y =1 and 3x-y=77?
(A) x=2and y=-1
B) x=3and y=-2
(C) x=2and y=3
(D) x=3and y=4

28 Which of the following graphs represents the solution of —4x <8?

A «t——t—O—t—vt—vt—ttt 3
4 3 3 01 2 3 4

(B) Attt
4 3 2 9 0 1 3% 3 4

©) R e WS ’ —
4 3 2 1 0 1 3 4

) bt @ttt

29 What is the solution to the inequality |2 - 5x[ <7?
9
(A) x<-lor x<§
9
B) x>-lor x>§
9
©) x>-lor x<~5—

D) x<-lor x>%

30 What is the solution to the inequality |2x +l] <3?
(A) xzlorxz-2
B) xzlorxz2
€) x<lorxz=-2
®) x<lorx=z2
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Solution Criteria
24436 _ 4 441176471
1 11.5+2.1 1 Mark: A
=(.44 (2 decimal places)
169.8
————=2.061680427...
2 14.2x5.8 1 Mark: B
~2.1 (2 signficant figures)
2 —
A 198 040093
3 V11.62+8.34%x2.72 1 Mark: D
~0.0410 (3 signficant figures)
o | BT BB 33 .
=43-32 '
2 ___ 2 2-43
2443 2443 2-43
5 4-243 1 Mark: C
T 4-3
=4-23
1y3 _ 1443 54243
5-243 5-243 5+243
6 _ 542345346 1 Mark: D
25-12
C11+3
13
22
7 | e=Vah 1 Mark: B
16 =+/34* -30°
13=26"-1
8 | 2p'=14 1 Mark: B
b=31
9 Hx—-D)—x+1=4x—-4-x+1 | Mark: C
=3x-3
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10 | 124® +4a® =34° 1 Mark: B
11 | x*+x* =x° (notx") 1 Mark: A
5m® x4m® _20m8
12 10m® 10m° { Mark: D
=2m’
4az~ab~ a(4a-b)
16a> ~b*  (4a—b)(da+b
13 “ (4a=b)(4a+b) 1 Mark: D
__a
(4a+b)
x3——1X x*—~4x-5 _(x—l)(x2+x+1)x(x+l)(x—5)
2 2 - . 2
TR 1 4x*+4x+4 (x—-D(x+1) 4(x*+x+1) 1 Mark: A
_(x=5)
4
2 N =34 2_ 2
05 3a°(a+2)-a" =3a"+6a"—a | Mark: B
=3ad’ +54°
16 | 3x* +9x =3x(x+3) 1 Mark: A
3x% +15x—72 = 3(x* +5x —24)
17 1 Mark: D
=3(x+8)(x—3)
2
18 | Lpyx_ 2, x_2+x 1 Mark: B
4 8 8 8 8
H=5m(¥ ~X)
H
19 |sm- ¥ % 1 Mark: D
Yoy _SmY-H
Sm . Sm
9x-8=27
0| =¥ 1 Matk: D
35 8
Xx=""=3—
9 9
Sa—2=a+6
Sa=a+8
21 1 Mark: C
4a=8
a=2
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22

1 Mark: D

23

2x+8=3x-12
x=20

1 Mark: D

24

8(a—1)=4(a+8);

8a—-8=4g+32
4a =40
a=10

1 Mark: D

25

4m-9=0
9
m=7

92
m=—
4

81

16

1 Mark: B

26

Let m=2"

then m*-9m+8=0
(m—-8)(m-1)=0

m=8 m=1

2"=8 27 =1

x=3 x=0

1 Mark: C

27

x+y=1 (1)
3x—y=7 (2)
Eqn ()+(2)
4x =8
x=2
Substitute x =2 into eqn (1)
2+y=1
y=-1
Solution is x=2 and y=-1.

1 Mark: A
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-4x <8
28 x>-2 } —0O— t 3 1 Mark: A
-4 3 2 -1 0
[2-5x|<7
2~5x <7 and —2+5x<7
29 5% <5 5%<9 1 Mark: C
x>—1 9
X <=
5
[2x+1|<3
30 2x+1<3 and 2x+12-3 1 Mark: C
2x<2 2x>—4
x<1 x2-2




